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College Board: AP History LEQ Rubric (6 Points)

Reporting Scoring Criteria Decision Rules
Category
. THESIS/ 1 pt. To earn this point, the thesis must make a claim that
CLAIM responds to the prompt, rather than merely restating
Responds to the prompt with a historically or rephrasing the prompt. The thesis must consist of
(0-1 pt) defensible thesis/claim that establishes a line of one or more sentences located in one place, either in

CCOT) to frame or
structure an argument
that addresses the
prompt

development that is the
focus of the prompt
using evidence to
corroborate, qualify, or
modify an argument
that addresses the
question

reasoning the introduction or the conclusion
. CONTEXTUA | 1 pt. To earn this point, the response must relate the topic
LIZATION of the prompt to broader historical events,
Describes a broader historical context relevant to developments, or processes that occur before,

(0-1 pt) the prompt. during, or continue after the time frame of the
question. This point is not awarded for merely a
phrase or a reference

. EVIDENCE 1 pt. Or 2 pts. To earn one point, the response must identify
specific historical examples of evidence relevant to

(0-2 pt) Provides specific Supports and argument | the topic of the prompt.

examples of evidence in response to the
relevant to the topic of | prompt using specific To earn two points the response must use specific
the prompt and relevant examples | historical evidence to support an argument in
of evidence. response to the prompt
. ANALYSIS 1 pt. Or 2 pts. To earn the first point, the response must
AND demonstrate the use of historical reasoning to frame
REASONING | Uses historical Demonstrates a or structure an argument, although the reasoning
reasoning (e.g. complex understanding | might be uneven or imbalanced.
(0-2 pt) comparison, causation, | of historical

To earn the second point, the response must

demonstrate a complex understanding. This can be

accomplished in a variety of ways, such as:

e Explaining nuance of an issue by analyzing
multiple variables

e Explaining both similarity and difference, or
explaining both continuity and change, or
explaining multiple causes, or explaining both
causes and effects

e Explaining relevant and insightful connections
within and across periods

e Confirming the validity of an argument by
corroborating multiple perspectives across
themes

e Qualifying or modifying an argument by
considering diverse or alternative views or
evidence

This understanding must be part of the argument,
not merely a phrase or reference
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Score: 6/6

Prompt: In the period circa 1200—1450, commerce along exchange networks such as the Silk Roads, the Indian
Ocean, and the trans-Saharan networks involved a number of new economic and commercial practices.

Develop an argument that evaluates the extent to which developments in economic and/or commercial

practices in Afro-Eurasia affected trade in this period.

In the early 1100°s to 1450 many new empires Started to become
interconnected. The Abbasic Caliphate and Song China traded with each
other regularly, promoting the diffusion of ideas and technology. These
large states also traded with smaller Indian states. Even African Nations
such as Ghana traded with the Abbasids. Combined, all this connection
through all of Afro-Eurasia set the stage for lots of ideas being spread
everywhere quickly. The developments of new economic practices
affected trade in Afro-Eurasia to a massive extent because of the increase
in trade caused by new technology, and new systems of trade.

Most of the new technology that caused a boom in trade was sea based
technology. The invention of the Astrolabe |allowed sailors to calculate
their latitude at night when they viewed the stars. The magnetic compass
allowed sailors to always know where they were. The new inventions
helped sailors to be able to find their exact positioning, which made
maritime trade safer. New sailing techniques and shipbuilding innovations
allowed more efficient trade. Once monsoon winds in the Indian Ocean
were chartered, trade flourished because of merchants' ability to surely go
back and forth between East Africa and India via the Indian Ocean. With
the invention of the junk ship and dhow ships, merchants could bring ore
goods back and forth between areas. Since these ships came from
different regions of the world, more merchants from more places had
more contact causing more interregional trade.

In addition to new maritime technology, new land based systems arose,
facilitating trade. Along the Silk Road and in the Trans-Saharan trade
routes, caravanserai, places for merchants to stop and spend the night at,
were established. This led to trade growth across regions, such as
merchants traveling from the Middle East, went all the way to Timbuktu
safely through the caravanserai system. In Addition to this, desire for
luxury products helped facilitate and grow trade along the silk road and
Trans-Saharan trade network. Finally, systems like the Abbasid Caliphate
or periods like Pax Mongolia helped trade flourish because of the safety
and sponsorship they provided.

Because of increased trade caused by new technology and new
systems that facilitated trade, new developments of economic practices
affected Afro-Eurasia to great extent. A Ithough most of the developments
hardly reached Europe because of their feudalist state, they still had a
great impact on Europe once they got there. These developments that
were only really in Africa and Asia helped trade flourish there, but once
they reached Europe, the exact same thing happened. After Europe comes
out of feudalism, the age of exploration starts. In this period the
Europeans travel all across the globe and involve themselves in large
trade networks such as the Indian Ocean. This proves that while the
developments took longer to reach some areas of Afro-Eurasia, they did

(A) Thesis/ Claim (0-1)=  1pt

The response earned the point at the end of the first
paragraph, by arguing that “new technology. and
new systems of trade” affected trade in

Afro-Eurasia to a “massive” extent.

(B) Contextualization (0-1)= | /1pt

The response earned the point in the first paragraph
for outlining the background of long-distance trade
in Afro-Eurasia, mentioning trade between the
“Abbasid Caliphate and Song China” as well as
between these “large states” and [ndian states and
Ghana. The statement also mentions the “diffusion
of ideas and technology” as an effect of the trade in
this period

(C) Evidence (0-2)= \"4]|\'4 2pt

The response earned 1 point by identifying specific
new technologies such as the astrolabe, magnetic

Indian Ocean dhows, and caravanserais. There is
additional evidence throughout the response.

The response earned the second evidence point by
using the evidence it identifies in support of an
argument about how new sea-based technologies
caused a boom in trade. For example, the response
explains,_“Once monsoon winds in the Indian
Ocean were charted, trade flourished because of
merchants’ ability to surely go back and forth
between East Africa and India via the Indian
Ocean.” There are several additional arguments
supported by evidence (for example, an argument
that the Trans-Saharan trade grew because of the

building of caravanserais)

(D) Analysis & Reasoning (0-2)= "4|.’4 1pt

The response earned the point for historical
reasoning by using numerous arguments
demonstrating how new commercial and economic
developments led to historical change. The
response earned the point for demonstrating
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in fact impact them all.

complex understanding through a nuanced

discussion of multiple technologies and their
impact on various world regions. The response also

makes several insightful connections across

historical contexts—for example, the response

explains how periods of increased political support
for trade such as the Pax Mongolica and the reign
of the Abbasid Caliphate helped trade flourish. In
the last paragraph the response shows how
increases in trade contributed to the decline of
feudalism in Europe and led to the age of European
lorati i T
become directly involved in the Indian Ocean trade
network.

Score: 4/6

Prompt: In the period circa 1200-1450, commerce along exchange networks such as the Silk Roads, the Indian
Ocean, and the trans-Saharan networks involved a number of new economic and commercial practices.

Develop an argument that evaluates the extent to which developments in economic and/or commercial

practices in Afro-Eurasia affected trade in this period.

Many commercial and economic practices have been adopted to make
trade safer, more efficient, and much more profitable. Inventions and
ideas have been adopted to optimize the process of trade across the Silk
Roads and Indian Ocean.

Economic practices have been best applied to land routes such as
the Silk Roads and trans-Saharan networks. Creating a standardized
currency between countries provides a large step in making trade much
more efficient. Beyond trade, a standardized currency also provides a
group of countries with protection against monetary issues such as
inflation. Countries were also able to establish some of the first forms of
banks that provide promises of currency to merchants.

New Commercial practices involving navigational technologies
helped make sea-based trade routes such as the Indian Ocean route much
safer and efficient. Lateen sails and stern rudders were installed on ships
to help merchants travel quicker in the direction they want to go.
Merchants were also able to carry compasses to help them navigate the
large trade routes. By combining these three technologies, merchants
were able to navigate sea-based trade routes with ease, speed, and safety.
This increased the desire for overseas trade which in return increased the
amount of resources being imported and exported.

Trade across the Silk Roads, Indian Ocean, and Trans-Saharan
networks has been made much more profitable and safer as a result of
new commercial and economic practices. From a standardized currency to

(A) Thesis/ Claim (0-1)= 1pt

The response earned the point in the last two

sentences, by stating, “From a standardized

currency to lateen sails, trade between merchants

has been made much easier and far more reliable
Wit hnologi i

through the seas would be close to impossible.”

This statement addresses a commercial/economic

practice and an effect on trade.

There is another attempt at thesis in the first

sentence: “Many commercial and economic
more efficient, and much more profitable.

Inventions and ideas have been adopted to optimize

the process of trade,” but it is not as well
developed.

(B) Contextualization (0-1)= >{ Opt

The response did not earn the point. There is not a
clear attempt to explain historical context.

(C) Evidence (0-2)=|"4|."42pt

The response earned 1 point by identifying relevant
evidence such as lateen sails, stern rudders, and
compasses. There is also additional evidence (for

example, a reference to standardized currency)

later in the response.
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(D) Analysis & Reasoning (0-2)= [4|>¢ 1pt

The response earned the point for historical
reasoning by explaining changes that had an effect
on trade due to new commercial practices,
including navigational technologies. This is
demonstrated in several places, including the third
paragraph, where the response argues that “[b]y
combining these three technologies, merchants
were able navigate sea-based trade routes with
ease, speed, and safety. This increased the desire
for overseas trade which in return increased the
amount of resources being imported and exported.”
The response did not earn the point for
demonstrating complex understanding. There is no
complex or nuanced analysis of the evidence or
insightful connections to other periods or historical
contexts

Score: 1/6

Prompt: In the period circa 1200-1450, commerce along exchange networks such as the Silk Roads, the Indian
Ocean, and the trans-Saharan networks involved a number of new economic and commercial practices.

Develop an argument that evaluates the extent to which developments in economic and/or commercial

practices in Afro-Eurasia affected trade in this period.

Developments in economic and commercial practices in Afro-Eurasia
affected trade in the period circa 1200-1450 along exchange networks
such as the Silk Road, the Indian Ocean and the trans-Saharan networks.

. Making trade routes easier and just
overall trade easier and more convenient. Like the Indian Ocean trade
network was hard to predict when is the best time to travel so being able
to predict the tides was less dangerous and faster to get to where
merchants wanted. Some other developments in economic or commercial
practices are developments in manufacturing and labor, and other
technology advancements.

(B) Contextualization (0-1)= >{ Opt
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(D) Analysis & Reasoning (0-2)= ){|>{ Opt

The response did not earn the point for using
historical reasoning. The only attempt to address
an effect on trade is within the thesis.

The response did not earn the point for
demonstrating complex understanding as it does
not offer a complex understanding

Purpose of Example:

These are scored LEQs from previous AP Tests that have been graded and given feedback by college board. All
information has been provided by college board | have just taken; their original made it more visually pleasing and
understanding.

Original: https://apcentral.collegeboard.org/media/pdf/ap21-apc-world-history-leg2.pdf



https://apcentral.collegeboard.org/media/pdf/ap21-apc-world-history-leq2.pdf
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Scoring Guidelines

Reporting Category Scoring Criteria
0 points = X 1 point =/
Responds to the prompt with a historically defensible
Does not meet the criteria for one point. thesis/claim that establishes a line of reasoning.
Decision Rules and Scoring Notes
Responses that do not earn this point: Responses that earn this point:
e Are not historically defensible. e Provide a historically defensible thesis or claim about
e Only restate or rephrase the prompt. the extent to which economic or commercial practices
e Do not respond to the prompt. in Afro-Eurasia affected trade in the period circa
e Do not establish a line of reasoning. 1200-1450, with some indication of the reasoning for
e Are overgeneralized making that claim
Thesis/ Claim Do not focus on the topic of the prompt Examples that earn this point:
e “The expansion of empires increased trade in Establish a line of reasoning that evaluates the topic of the
Afro-Eurasia.” )¢ prompt
(0-1 points) e “New commercial practices such as letters of credit
Provide a historically defensible claim, but do not greatly increased trade in AfroEurasia because they
establish a line of reasoning made it easier for merchants to purchase goods.” i/
e “New commercial practices affected trade in
Afro-Eurasia in the period 1200-1450.” > Establish a line of reasoning that evaluates the topic of the
prompt with analytic categories
Establish a line of reasoning, but do not provide a e “The development of new forms of credit and the
historically defensible claim formation of cooperative commercial partnerships were
e “The establishment of joint-stock companies in the most significant factors in expanding trade in
Afro-Eurasia in the period 1200-1450 greatly Afro-Eurasia in the period 1200-1450.” /
increased trade because they allowed investors to
pool large amounts of capital.” ){ Establish a line of reasoning
e “Trade increased because of the spread of new
commercial infrastructure.” (Minimally acceptable
thesis/claim)y/
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Additional Notes:

e The thesis or claim must consist of one or more sentences located in one place, either in the introduction or the conclusion (which
may not be limited to the first or last paragraphs).
e The thesis or claim must identify a relevant development(s) in the period, although it is not required to encompass the entire period

Contextualizati
on

(0-1 points)

0 points & X

Does not meet the criteria for one point.

Decision Rules and Scoring Notes

Responses that do not earn this point:
e Provide an overgeneralized statement about the time
period referenced in the prompt.
e Provide context that is not relevant to the prompt.
e Provide a passing phase or reference

Examples that do not earn this point:

Provide an overly generalized statement about the time
period referenced in the prompt
e “The period 1200-1450 was a time of great change all
over Eurasia as empires rose and fell.” )

Provide historically inaccurate contextualization
e “The Portuguese and Spanish voyages of exploration
fundamentally changed the economy and trade in
Eurasia during this period.” )

Additional Notes:

e The response must relate the topic of the prompt to broader historical events, developments, or processes that occur before, during,
or continue after the time frame of the question.
e To earn this point, the context provided must be more than a phrase or reference.
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Evidence

(0-2
points)

0 points = X
Does not meet the criteria for
one point.
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1 point =

Decision Rules and Scoring Notes
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Responses that do not earn
points:
e |dentify a single piece of
evidence.
Provide evidence that is
not relevant to the topic
of prompt.
Provide evidence that is
outside the time period
or region specified in the
prompt.
Repeat information that
is specified in the prompt

Examples that do not earn
points:

Provide evidence that is not
relevant to the topic of the
prompt.
e “The trans-Saharan
trade routes were vital
for the growth of the Mali

Empire.” X
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Additional Notes:
e Typically, statements credited as evidence will be more specific than statements credited as contextualization.
e If a response has a multipart argument, then it can meet the threshold of two pieces of evidence by giving one example for one part of
the argument and another example for a different part of the argument, but the total number of examples must still be at least two.

(For example, changes in commercial practices affected trade more significantly in some regions than others; changes in commercial
practices significantly affected trade across all of Afro-Eurasia.)

Analysis
&
Reasonin

9

(0-2
points)

5%

Does not meet the criteria for
one point.

0 points

1 point == X/

Uses historical reasoning (e.g.,
comparison, causation, continuity
and change) to frame or structure
an argument that addresses the
prompt.

1 point = Vv

Demonstrates a complex understanding of the historical
development that is the focus of the prompt, using evidence to
corroborate, qualify, or modify an argument that addresses the
question

Decision Rules and Scoring Notes

Responses that do not earn
points:

e May include evidence
but offer no reasoning to
connect the evidence to
an argument.

e May assert the use of
historical reasoning but
do not use it to frame or
structure an argument.

Examples that do not earn
points:

Provide evidence but offer no
reasoning to connect the
evidence to an argument .

e “China during the Song,
Yuan, and Ming periods
was renowned for
producing fine porcelain,

Responses that earn 1 point:

e Must demonstrate the use
of historical reasoning to
explain how developments
in economic or commercial
practices affected trade in
Afro-Eurasia in the period
1200-1450.

Using a historical thinking skill
to frame or structure an
argument could include:

e Explaining the ways in
which the construction of
commercial infrastructure
increased regional and
transregional trade.

e Explaining how changes in
trading patterns or volumes
were influenced by the
introduction of new

Responses that earn 2 points:
May demonstrate a complex understanding in a variety of
ways, such as

e Explaining the nuance of an issue by analyzing multiple
variables.

e Explaining both similarity and difference, or explaining
both continuity and change, or explaining multiple
causes, or explaining both causes and effects.

e Explaining relevant and insightful connections within
and across periods.

e Confirming the validity of an argument by corroborating
multiple perspectives across themes.

e Qualifying or modifying an argument by considering
diverse or alternative views or evidence.

Demonstrating complex understanding might include any
of the following, if appropriate elaboration is provided:

e Explaining how new commercial practices were very
important in leading to an increase in trade in some
regions while new commercial practices only had a
marginal effect on trade in other regions of AfroEurasia.
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which was in high
demand as a trade item.”

X

Additional Notes:
e This demonstration of complex understanding must be part of the argument, not merely a phrase or reference.




